
� No.184-10-1 �

No.184-10-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 10644− 5681 = (2) 46284÷ 798 = (3) 7284 + 9052 =

(4) 2684− 332 = (5) 7901 + 6681 = (6) 88× 894 =

(7) 4093 + 8538 = (8) 7041 + 5665 = (9) 44016÷ 524 =

(10) 9196− 2282 =

� 13th-note �



� No.184-10-1 �

No.184-10-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 10644− 5681 = 4963 (2) 46284÷ 798 = 58 (3) 7284 + 9052 = 16336

(4) 2684− 332 = 2352 (5) 7901 + 6681 = 14582 (6) 88× 894 = 78672

(7) 4093 + 8538 = 12631 (8) 7041 + 5665 = 12706 (9) 44016÷ 524 = 84

(10) 9196− 2282 = 6914

� 13th-note �



� No.184-10-2 �

No.184-10-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 17197÷ 593 = (2) 76× 827 = (3) 137× 49 =

(4) 4950 + 4978 = (5) 7477− 6676 = (6) 7025 + 6905 =

(7) 784× 22 = (8) 3500 + 2159 = (9) 14994÷ 34 =

(10) 91× 963 =

� 13th-note �



� No.184-10-2 �

No.184-10-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 17197÷ 593 = 29 (2) 76× 827 = 62852 (3) 137× 49 = 6713

(4) 4950 + 4978 = 9928 (5) 7477− 6676 = 801 (6) 7025 + 6905 = 13930

(7) 784× 22 = 17248 (8) 3500 + 2159 = 5659 (9) 14994÷ 34 = 441

(10) 91× 963 = 87633

� 13th-note �



� No.184-10-3 �

No.184-10-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 13555− 5700 = (2) 5148÷ 132 = (3) 74× 544 =

(4) 7740 + 6590 = (5) 62628÷ 68 = (6) 2563 + 1750 =

(7) 4792 + 8600 = (8) 27552÷ 84 = (9) 3562÷ 137 =

(10) 8952 + 9755 =

� 13th-note �



� No.184-10-3 �

No.184-10-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 13555− 5700 = 7855 (2) 5148÷ 132 = 39 (3) 74× 544 = 40256

(4) 7740 + 6590 = 14330 (5) 62628÷ 68 = 921 (6) 2563 + 1750 = 4313

(7) 4792 + 8600 = 13392 (8) 27552÷ 84 = 328 (9) 3562÷ 137 = 26

(10) 8952 + 9755 = 18707

� 13th-note �



� No.184-10-4 �

No.184-10-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 661× 95 = (2) 23× 291 = (3) 43250÷ 865 =

(4) 12712− 2785 = (5) 183× 15 = (6) 5975 + 8047 =

(7) 33099÷ 561 = (8) 3638 + 4077 = (9) 800× 22 =

(10) 89892÷ 908 =

� 13th-note �



� No.184-10-4 �

No.184-10-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 661× 95 = 62795 (2) 23× 291 = 6693 (3) 43250÷ 865 = 50

(4) 12712− 2785 = 9927 (5) 183× 15 = 2745 (6) 5975 + 8047 = 14022

(7) 33099÷ 561 = 59 (8) 3638 + 4077 = 7715 (9) 800× 22 = 17600

(10) 89892÷ 908 = 99

� 13th-note �



� No.184-10-5 �

No.184-10-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 375× 89 = (2) 7377 + 2061 = (3) 4402÷ 71 =

(4) 58520÷ 76 = (5) 442× 82 = (6) 5169 + 6216 =

(7) 624× 75 = (8) 265× 28 = (9) 38982÷ 438 =

(10) 2734 + 6795 =

� 13th-note �



� No.184-10-5 �

No.184-10-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 375× 89 = 33375 (2) 7377 + 2061 = 9438 (3) 4402÷ 71 = 62

(4) 58520÷ 76 = 770 (5) 442× 82 = 36244 (6) 5169 + 6216 = 11385

(7) 624× 75 = 46800 (8) 265× 28 = 7420 (9) 38982÷ 438 = 89

(10) 2734 + 6795 = 9529

� 13th-note �



� No.184-10-6 �

No.184-10-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 18348÷ 33 = (2) 75× 148 = (3) 168× 15 =

(4) 14097− 7188 = (5) 14628− 7977 = (6) 18462÷ 543 =

(7) 47× 612 = (8) 7106− 6707 = (9) 8792− 5446 =

(10) 15556− 5727 =

� 13th-note �



� No.184-10-6 �

No.184-10-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 18348÷ 33 = 556 (2) 75× 148 = 11100 (3) 168× 15 = 2520

(4) 14097− 7188 = 6909 (5) 14628− 7977 = 6651 (6) 18462÷ 543 = 34

(7) 47× 612 = 28764 (8) 7106− 6707 = 399 (9) 8792− 5446 = 3346

(10) 15556− 5727 = 9829

� 13th-note �



� No.184-10-7 �

No.184-10-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 31× 178 = (2) 10897− 1266 = (3) 1529− 1019 =

(4) 71× 420 = (5) 53064÷ 792 = (6) 46× 339 =

(7) 8419 + 9311 = (8) 1701 + 9655 = (9) 14146− 6309 =

(10) 4047 + 6253 =

� 13th-note �



� No.184-10-7 �

No.184-10-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 31× 178 = 5518 (2) 10897− 1266 = 9631 (3) 1529− 1019 = 510

(4) 71× 420 = 29820 (5) 53064÷ 792 = 67 (6) 46× 339 = 15594

(7) 8419 + 9311 = 17730 (8) 1701 + 9655 = 11356 (9) 14146− 6309 = 7837

(10) 4047 + 6253 = 10300

� 13th-note �



� No.184-10-8 �

No.184-10-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 16823− 9188 = (2) 7987÷ 49 = (3) 9035− 1373 =

(4) 16014÷ 314 = (5) 9129 + 5754 = (6) 34336÷ 464 =

(7) 4522 + 169 = (8) 7191− 5859 = (9) 18525÷ 95 =

(10) 92× 837 =

� 13th-note �



� No.184-10-8 �

No.184-10-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 16823− 9188 = 7635 (2) 7987÷ 49 = 163 (3) 9035− 1373 = 7662

(4) 16014÷ 314 = 51 (5) 9129 + 5754 = 14883 (6) 34336÷ 464 = 74

(7) 4522 + 169 = 4691 (8) 7191− 5859 = 1332 (9) 18525÷ 95 = 195

(10) 92× 837 = 77004

� 13th-note �



� No.184-10-9 �

No.184-10-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 54912÷ 66 = (2) 12625− 9348 = (3) 8795− 5010 =

(4) 39× 536 = (5) 2173 + 2499 = (6) 8759 + 9269 =

(7) 17606− 7792 = (8) 7758 + 4016 = (9) 12190− 4359 =

(10) 11250− 9803 =

� 13th-note �



� No.184-10-9 �

No.184-10-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 54912÷ 66 = 832 (2) 12625− 9348 = 3277 (3) 8795− 5010 = 3785

(4) 39× 536 = 20904 (5) 2173 + 2499 = 4672 (6) 8759 + 9269 = 18028

(7) 17606− 7792 = 9814 (8) 7758 + 4016 = 11774 (9) 12190− 4359 = 7831

(10) 11250− 9803 = 1447

� 13th-note �



� No.184-10-10 �

No.184-10-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 14× 639 = (2) 3141− 1608 = (3) 1344− 349 =

(4) 41090÷ 587 = (5) 14912− 6436 = (6) 30856÷ 38 =

(7) 5185 + 5891 = (8) 5687 + 2844 = (9) 4503 + 8704 =

(10) 3528 + 6408 =

� 13th-note �



� No.184-10-10 �

No.184-10-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 10点）

(1) 14× 639 = 8946 (2) 3141− 1608 = 1533 (3) 1344− 349 = 995

(4) 41090÷ 587 = 70 (5) 14912− 6436 = 8476 (6) 30856÷ 38 = 812

(7) 5185 + 5891 = 11076 (8) 5687 + 2844 = 8531 (9) 4503 + 8704 = 13207

(10) 3528 + 6408 = 9936

� 13th-note �


